

Board of County Commissioners Agenda Request



Requested Meeting Date: 5-12-20
Title of Item: Award Contract No. 20204

REGULAR AGENDA	Action Requested:	Direction Requested
CONSENT AGENDA	Approve/Deny Motion	Discussion Item
INFORMATION ONLY	Adopt Resolution (attach dr. *provide	aft) Hold Public Hearing* e copy of hearing notice that was published
Submitted by: John Welle		Department: Highway Department
Presenter (Name and Title): John Welle, Aitkin County Engineer	•	Estimated Time Needed: 10 minutes
of 3.2 miles of CSAH 3 from TH 65 to 3	3.2 miles west.bids, four bids were received, with And	cludes S.A.P. 001-603-018, reconstruction
estimated at \$3,627,383.20, the low bid	d was 0.52% below the estimated cos	t.
8		
Alternatives, Options, Effects on	Others/Comments:	
Recommended Action/Motion: Recommend award of project to Anders	son Brothers Construction Company o	of Brainerd, LLC by attached resolution.
Financial Impact: Is there a cost associated with this What is the total cost, with tax and Is this budgeted? Yes	-	

Aitkin County Contract Bid Abstract

Project Name: CSAH 3 Widening and Bituminous Pavement

Project No.: SAP 001-603-018

Bid Opening: Contract No.: 5/4/2020 at 2:00 PM

20204

	Project: SAP 001-603-018 - Widening and Bituminous Pavement25 Mi W of CR 62 to TH 65			Engineers Esti	mate	Anderson Brothers Construction Company of Brainerd LLC - Brainerd, MN		Gladen Construction - Laporte, MN		KGM - Angora, MN		J.R. Ferche, Inc - Rice, MN	
ine No.		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1		LS	1	\$110,000.00	\$110,000.00	\$80,000.00	\$80,000.00	\$55,000.00	\$55,000.00	\$184,000.00	\$184,000.00	\$145,000.00	A445 000 0
2	2051.501 MAINT & RESTORATION OF HAUL ROADS	LS	1	\$1,000.00	\$1,000.00	\$1.00	\$1.00		THE RESIDENCE OF THE PARTY OF T	\$1,400.00			
3	2102.503 PAVEMENT MARKING REMOVAL	LF	1925	\$1.00	\$1,925.00	\$1.00	\$1,925.00		\$3,850.00	\$1.05			-
4		EACH	103	\$30.00	\$3,090.00		\$4,532.00		\$4,635.00				
5	2104.503 SAWING BIT PAVEMENT (FULL DEPTH)	LF	183	\$3.00	\$549.00		\$640.50			\$3.20		700.00	
- 6		LF	1564	\$12.00	\$18,768.00	\$11.00	\$17,204.00			\$10.00	\$15,640.00	\$5.00	
7	2104.503 REMOVE CURB & GUTTER	LF	16	\$15.00	\$240.00		\$176.00		\$160.00	\$4.50		\$10.00 \$5.00	
8	2104.503 REMOVE GUARDRAIL-PLATE BEAM	LF	588	\$4.00	\$2,352.00	\$4.70	\$2,763.60		\$2,646.00	\$4.45		\$7.00	
9	2104.504 REMOVE BITUMINOUS PAVEMENT	SY	2111	\$3.50	\$7,388.50	\$5.00	\$10,555.00	\$3.50	\$7,388.50		\$7,810.70	\$4.00	
10	2104.601 REMOVE MISCELLANEOUS DEBRIS	LS	1	\$5,000.00	\$5,000.00	\$8,300.00	\$8,300.00		\$2,500.00	\$4,300.00	\$4,300.00	\$20,000.00	
11	2105.504 GEOTEXTILE FABRIC TYPE 5	SY	18173	\$2.00	\$36,346.00	\$1.90	\$34,528.70		\$44,523.85	\$2.35	\$42,706.55		
12	2105.507 COMMON EXCAVATION (P)	CY	91338	\$6.25	\$570,862.50	\$5.80	\$529,760.40		\$602,830.80	\$6.05	\$552,594.90	\$6.10	-
13	2105.507 MUCK EXCAVATION (LV)	CY	1021	\$12.00	\$12,252.00	\$7.20	\$7,351.20	\$12.00	\$12,252.00	\$15.30	\$15,621.30		
14	2105.507 GRANULAR BORROW MOD 7% (EV)	CY	30742	\$11.00	\$338,162.00	\$9.15	\$281,289.30	\$11.90	\$365,829.80	\$15.35	\$471,889.70	\$10.00	\$10,210.0
15	2105.507 SELECT GRANULAR BORROW (LV)	CY	944	\$18.00	\$16,992.00	\$22.00	\$20,768.00	\$18.00	\$16,992.00	\$21.00	\$19,824.00	\$16.85	45.0074.400
16	2105.603 OBLITERATE OLD ROADWAY	LF	2510	\$5.00	\$12,550.00	\$22.00	\$55,220.00	\$7.50	\$18,825.00	\$2.35	\$19,824.00	\$24.00	
17	2118.507 AGGREGATE SURFACING (LV), CLASS 5	CY	1298	\$25.00	\$32,450.00	\$25.50	\$33,099.00	\$21.00	\$27,258.00	\$32.20	\$41,795.60	\$29.00	
18	2118.507 AGGREGATE SURFACING (CV) CLASS 5	CY	1655	\$28.00	\$46,340,00	\$52.00	\$86,060.00	\$30.00	\$49,650.00	\$31.60		\$23.00	
19		TON	2474	\$17.00	\$42,058.00	\$21.00	\$51,954.00	\$15.00	\$37,110.00	\$17.00	\$52,298.00	\$33.00	
20	2211.507 AGGREGATE BASE (CV) CLASS 5	CY	25466	\$23.50	\$598,451.00	\$27.25	\$693,948.50	\$21.00	\$534,786.00	\$18.15	\$42,058.00	\$16.00	\$39,584.0
21	2215.504 FULL DEPTH RECLAMATION	5 Y	52130	\$1.30	\$67,769.00	\$0.65	\$33,884.50		\$197,051.40	\$2.22	\$462,207.90	\$22.00	\$560,252.0
22	2232.504 MILL BITUMINOUS SURFACE (2.0")	SY	46305	\$1.50	\$69,457.50	\$1.00	\$46,305,00	\$1.00	\$46,305.00	\$1.05	\$115,728.60	\$3.92	
23	SECTION AND ADDRESS AND ADDRES	S Y	170	\$180.00	\$30,600.00	\$105.00	\$17,850.00	\$100.00	\$17,000.00		\$48,620.25	\$1.15	
24	2357.506 BITUMINOUS MATERIAL FOR TACK COAT	GAL	3057	\$2.00	\$6,114.00	\$2.25	\$6,878.25	\$2.10	\$6,419.70	\$131.00 \$2.45	\$22,270.00	\$125.00	722/20010
25		TON	15641	\$55.00	\$860,255.00	\$53.35	\$834,447.35	\$55.00	\$860,255.00	\$52.00	\$7,489.65 \$813,332.00	\$2.30	\$7,031.1
		CY	179	\$45.00	\$8,055.00	\$61.00	\$10,919.00	\$55.00	\$9,845.00	\$45.00		\$61.50	\$961,921.5
27	2501.502 15" GS PIPE APRON	EACH	34	\$175.00	\$5,950.00	\$185.00	\$6,290.00	\$157.00	\$5,338.00		\$8,055.00	\$55.00	\$9,845.0
28		EACH	1	\$750.00	\$750.00	\$825.00	\$825.00	\$682.00	\$682.00	\$240.00 \$865.00	\$8,160.00 \$865.00	\$200.00 \$1,100.00	\$6,800.0 \$1,100.0

			Engineers Estimate				others Company of Company MN	Gladen Construction - Laporte, MN		KGM - Angora, MN		J.R. Ferche, Inc - Rice, MN	
			Quantity	THE RESERVE THE PARTY OF THE PA	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
29		EACH	5	\$900.00	\$4,500.00	\$995.00	\$4,975.00	\$832.00	\$4,160.00	\$970.00	\$4,850.00	\$1,350.00	\$6,750.00
30	- Poziotaj po Tro i i porti	EACH	- 4	\$1,400.00	\$5,600.00	\$1,325.00	\$5,300.00	\$1,055.00	\$4,220.00	\$1,260.00	\$5,040.00	\$1,500.00	\$6,000.00
31		EACH	3	\$950.00	\$2,850.00	\$995.00	\$2,985.00	\$761.00	\$2,283.00	\$905.00	\$2,715.00	\$1,200.00	\$3,600.00
32		EACH	4	\$1,050.00	\$4,200.00	\$1,100.00	\$4,400.00	\$895.00	\$3,580.00	\$985.00	\$3,940.00	\$1,400.00	\$5,600.00
	2501.502 18" GS SAFETY APRON	EACH	34	\$350.00	\$11,900.00	\$205.00	\$6,970.00	\$333.60	\$11,342.40	\$255.00	\$8,670.00	\$245.00	\$8,330.00
34		EACH	4	\$750.00	\$3,000.00	\$1,080.00	\$4,320.00	\$1,678.00	\$6,712.00	\$865.00	\$3,460.00	\$925.00	
35		LF	798	\$32.00	\$25,536.00	\$27.50	\$21,945.00	\$57.50	\$45,885.00	\$40.00	\$31,920.00	\$37.00	\$29,526.00
36		LF	800	\$40.00	\$32,000.00	\$33.00	\$26,400.00	\$61.50	\$49,200.00	\$44.00	\$35,200.00		
37		LF	124	\$65.00	\$8,060.00	\$61.00	\$7,564.00	\$73.16		\$66.00			
38	2501.503 28" SPAN RC PIPE-ARCH CULV CL IIA	L F	124	\$180.00	\$22,320.00	\$195.00	\$24,180.00	\$146.00	\$18,104.00				
39	2501.503 24" RC PIPE CULVERT DES 3006	LF	144	\$100.00	\$14,400.00	\$115.00	\$16,560.00	\$97.50					
40	2501.503 30" RC PIPE CULVERT DES 3006	LF	72	\$120.00	\$8,640.00	\$175.00		\$123.00	\$8,856.00	\$118.00			
41.	2501.503 30" RC PIPE CULVERT DES 3006 CL III	LF	112	\$130.00	\$14,560.00	\$195.00		\$123.00	\$13,776.00	The state of the s	The second secon		\$16,800.00
42.	2502.502 4" PRECAST CONCRETE HEADWALL	EACH	10	\$150.00	\$1,500.00	\$275.00		\$262.00	\$2,620.00				
43	2502.503 4" PERF PE PIPE DRAIN	LF	5505	\$10.00	\$55,050.00			\$10.75	\$59,178.75		The second secon	\$5.25	\$28,901.25
44	2503.503 22" SPAN RC PIPE-ARCH SEWER CL IIA	L F	142	\$110.00	\$15,620.00	\$125.00		\$125.00	\$17,750.00	131100001			\$23,430.00
45	2503.503 18" RC PIPE SEWER DES 3006	LF	801	\$75.00	\$60,075.00			\$56.70	\$45,416.70	\$67.00	+		\$48,060.00
46	2503.503 24" RC PIPE SEWER DES 3006	LF	510	\$100.00	\$51,000.00			\$68.60	\$34,986.00	\$83.00			\$44,880.00
47	2506.502 CONST DRAINAGE STRUCTURE DES 48-4020	EACH	7	\$2,500.00	\$17,500.00			\$3,037.00	\$21,259.00	\$2,725.00			\$18,200.00
48	2506.602 ADJUST FRAME & RING CASTING	EACH	2	\$400.00	\$800.00			\$425.00	\$850.00	\$250.00			\$600.00
49		C Y.	123	\$80.00	\$9,840.00	\$85.00		\$105.00	\$12,915.00	\$64.00			
50	2531.503 CONCRETE CURB & GUTTER DESIGN S524	LF	4937	\$25.00	\$123,425.00			\$22.00	\$108,614.00	\$30.00			\$10,455.00
51		EACH	27	\$130.00	\$3,510.00	\$115.00		\$150.00	\$4,050.00	\$170.00			\$116,019.50
52		LS	1	\$5,000.00	\$5,000.00	\$9,000.00		\$17,500,00	\$17,500.00	\$10,000.00	The state of the s		\$3,645.00
53		EACH	Δ	\$2,500.00	\$10,000.00			\$3,500.00	\$14,000.00	\$3,465.00			
54	2554.503 TRAFFIC BARRIER DESIGN SPECIAL	L F	100	\$100.00	\$10,000.00	\$94.00		\$85.00	\$8,500.00	\$3,465.00	The second second second	\$3,200.00	\$12,800.00
55	2554.503 TRAFFIC BARRIER DESIGN B8338	LF	350	\$30.00	\$10,500.00		7.5.4.3.5.5.5.5.5	\$25.00	\$8,750.00			\$100.00	\$10,000.00
56	2563.601 TRAFFIC CONTROL	LS	1	\$15,000.00	\$15,000.00				\$12,000.00	\$24.00		\$30.00	\$10,500.00
		S F	464	\$42.00	\$19,488.00		The state of the s	\$60.00		\$9,450.00			\$20,000.00
		EACH	22	\$110.00	\$2,420.00				\$27,840.00	\$57.75	The second secon	\$63.00	\$29,232.00
59	2573.502 STORM DRAIN INLET PROTECTION	EACH	9	\$180.00	\$1,620.00			\$210.00	\$4,620.00	\$210.00		\$25.00	\$550.00
60	2573.503 SILT FENCE, TYPE HI	L F	10910	\$3.00		\$110.00		\$160.00	\$1,440.00	\$180.00		\$350.00	\$3,150.00
	2574.508 FERTILIZER TYPE 3	LF LB			\$32,730.00		The state of the s	\$2.10	\$22,911.00	\$3.05		\$2.30	
		5 Y	12355	\$0.80	\$9,884.00			\$0.75	\$9,266.25	\$1.05		\$1.00	\$12,355.00
		_	5829	\$2.00	\$11,658.00		12722100	\$1.60	\$9,326.40	\$2.00		\$1.75	
		ACRE	35.3	\$300.00	\$10,590.00	\$330.00		\$300.00	\$10,590.00	\$200.00		\$350.00	\$12,355.00
04	23/3.3U3JUISK ANCHUKING	ACRE	35.3	\$120.00	\$4,236.00	\$165.00	\$5,824.50	\$150.00	\$5,295.00	\$41.00	\$1,447.30	\$200.00	\$7,060.00

	Project: SAP 001-603-018 - Widening and Bituminous Pavement25 Mi W of CR 62 to TH 65			Engineers Estir	Anderson Brothers Construction Company of Brainerd LLC - Brainerd, MN Gladen Construction - Laporte, MN		ruction -	KGM - Angora, MN		J.R. Ferche, Inc - Rice, MN			
ine No.		Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
		LB	2083	\$4.25	\$8,852.75	\$4.25							
		TON	71	\$190.00	\$13,490.00	\$275.00					\$14,200.00		The second second
67	2575.523 RAPID STABILIZATION METHOD 3	MGAL	88.5	\$425.00	\$37,612.50	\$330.00							
68	2580.503 INTERIM PAVEMENT MARKING	L.F	45346	\$0.20	\$9,069.20								-
69	2582.503 4" SOLID LINE MULTI COMP	LF	53091	\$0.25	\$13,272.75						4.07		
70	2582.503 4" BROKEN LINE MULTI COMP	LF	1390	\$0.25	\$347.50								The second second
	Totals for Project SAP 001-603-018				\$3,627,383.20		\$3,608,544.44		£2.704.047.07		******		
	% of Estimate for Project SAP 001-603-018				45,027,303.20		-0.52%		\$3,704,847.97 2.14%		\$3,707,724.92 2.21%		\$4,126,484.20 13.76%
-	Totals for Contract 20204										210270		15.767
					\$3,627,383.20		\$3,608,544.44		\$3,704,847.97		\$3,707,724.92		\$4,126,484.20
	% of Estimate for Contract 20204						-0.52%		2.14%		2,21%		13.76%

I hereby certify that this is an exact reproduction of bids received.

Certified By:

_ License No. <u>2434</u>0

CERTIFIED COPY OF RESOLUTION OF COUNTY BOARD OF AITKIN COUNTY, MINNESOTA

ADOPTED May 12, 2020

By Commissioner: xxxx

20200512-xxx

Award Contract No. 20204

WHEREAS, Contract No. 20204 is for construction of S.A.P 001-603-018, and

WHEREAS, sealed bids were opened for this project at 2:00 p.m. on Monday, May 4, 2020 with a total of four bids received, and

WHEREAS, Anderson Brothers Construction Company of Brainerd LLC, Brainerd, MN was the lowest responsible bidder in the amount of \$3,608,544.44.

THEREFORE, BE IT RESOLVED, that Anderson Brothers Construction Company of Brainerd LLC is awarded Contract No. 20204.

BE IT FURTHER RESOLVED, that the chairperson of the Aitkin County Board and the Aitkin County Administrator are hereby authorized and directed to enter into a contract on behalf of Aitkin County with said low bidder upon presentation of proper contract documents.

Commissioner xxxx moved for adoption of the resolution and it was declared adopted upon the following vote

FIVE MEMBERS PRESENT

All Members Voting

STATE OF MINNESOTA) COUNTY OF AITKIN)

I, Jessica Seibert, County Administrator, Aitkin County, Minnesota do hereby certify that I have compared the foregoing with the original resolution filed in the Administration Office of Aitkin County in Aitkin, Minnesota as stated in the minutes of the proceedings of said Board on the 12th day of May, 2020 and that the same is a true and correct copy of the whole thereof.

Witness my hand and seal this 12th day of May, 2020

Jessica Seibert
County Administrator